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COMBINATORIA 

Problema 14: 

Resolver la ecuación: 

��,� + ����,� =  36(x − 1) 

Solución Problema 14: 

��,� + ����,� =  36(x − 1) ������ó� 1 

La podemos expresar como: 

�(x − 1)(� − 2) + (x − 1)(x − 2)(x − 3) =  36(x − 1) 

�(� − 2) + (x − 2)(x − 3) =  36 

�� − 2� + �� − 2� − 3� + 6 = 36 

2�� − 7� − 30 = 0 

x =  
7 ± √7� + 4x2x30

4
=

7 ± √49 + 240

4
=  

7 ± √289

4
=

7 ± 17

4
   

"# =  
7 + 17

4
=  

24

4
= $  %&'()*ó+ ,á'*./ 

"0 =  
7 − 17

4
=  

−10

4
=  

−1

0
  %&'()*ó+ ,á'*./ 

 

 

 

 

 

 

 

 


